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1 IN 08:21 Be BE Bt AR R/RRF Bt B fmA = &M TE =

2 IN 08:28 BN HHE Bt RiE E—HB Bt AH &£ Ll 117 NpES Ll

3 IN 08:35 BZE B8 Ll L% RS2 Ll WHE  RE Ll BE AE Ll

4 IN 08:42 Rk B RIEE Hf = RIEEF By hE RIEEF & B RIEEF
5 IN 08:49 B 8z RH BE B RH aE B RH ALY S RH

6 IN 08:56 ® skt I\HIRFER 1t m= I\HIRFER =B AR I\HIRFER HE =X \HIRFER
7 IN 09:03 Pk B HLIFs e &R HLIFz WH —4% HLIFs =R Bt i mi
8 IN 09:10 R 8BE = B8 BX =8 S B £E Al FHiE &l

9 IN 09:17 2E =A = TH Szt X% T B mE

10 IN 09:24 Il BX R Rl AT B mAfk &F BN 7af B BN
1 IN 09:31 WA BESE FAIE R EBER Bix e B FAIE

12 IN 09:38 BE (E—8 Bix M Hh Bix B —{= Bix XHE 8 Bix
13 IN 09:45 ME =Ekief Bix ThiE  5EER Bix BE RE Bix hE K2 Bix
14 IN 09:52 AT &t TV W R TV NE HA [SYAVES Wr EE TV
15 IN 09:59 AT HER i JFH BA i mAR Fx TR TR ME TR
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X5 — K5 K+ = = =
08:21 SHE HE —= Ml E —= R A —=
08:28 e &= —= xXE L ) 2l FE —= £ K¥g —=
08:35 AE BEX 2 AT #H3 = ANYY SRt = g =i RKE
08:42 L = VS RKZ AN RKZ g Z— RK2 NN BR RKE
08:49 AREH E RKZ Tl B2 RK2 a8 HBE RK2 il g RK2
08:56 B Kith NEE B X NEE =# WS NEE (1] N NEE
09:03 BF =8 KK Bt FT KK AT b VSl pla:: Rl VSl
09:10 WA BESE KK 5B #hEH KK 7k B KK
09:17 = =)= FN B =)= FEH L =)= B BB AN=EH
09:24 L BX XH ME =5 XH B 1= XH ‘B TR AH
09:31 R —R XH g M\ AH A BIE XH =H EE XH
09:38 &k AT XH FAE =03 XH RE &M XH Be %7 XH
09:45 Bl %R AL HF B2 AFL FRE  KBh AL iR BE% AL
09:52 B8 A AL =N B AL AE BX AL RER B AL
09:59 BAE & AL HI% BX AL o BA AL WA 2Bh AL




